| can use the Make a Ten strategy to find the sum of two numbers.
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Addition Question Strategy and Thinking

8+7=

9+6=

3+49=

8+4=

9+8=
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Show how you could use the Make a Ten strategy to solve the following problems:




On her drive through Nova Scotia, Mrs. Gregoire noticed nine houses that had Acadian flags. She saw another 4
houses that had Canadian flags. How many houses did she see that had a flag in total?

In the scooter game we’re playing in the gym, the red team scored 8 points. The blue team scored 7. How many
points did the two teams have altogether?

On a beach near Halifax, Nelson went looking for seashells. He found nine and his little brother found 6. How
many seashells did the boys find altogether?
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